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(BT = A" 9L /kg)

=1 - = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (0g) | BYIA134 (by9h134) 994137 (b994137)
iEES ARF+ LT ERITZHE | 16H(®)| A1&EH 9.6 | A1&H 8.7
IEEES ARF+ BB LT AHRET 8H(AK)| A& 12.8 | ~&H 11.6
e EGES F Y a8]llh 28H(K) [ A& 7.1 ~%H 8.4
NEES Fa1oU BUTHEHNEEE |[27TB(N)| FA&E 11.8 | ~&H 10.3
RESES J—% EILh=1HETEFH| 1HK)| A1&EH 11.2 | &1 9.8
6 [FE HYNTE ERLT-ERBT S HEF | 28H0K) [ A i&HE 10.9 | A% E 9.6
REES Yh1E EB LT AHEET 1H(K)| A& 12.7 | ~&H 11.4
8 [FE Jv A1 E LA E 26H(A)| A&H 11.6 | ~%E 10.3
EESES ko ASY £ 1Lk 28H(OK)| A1&EH 7.0 | A1%&H 8.3
IEES NTTA BB LI T A HET 1H(R)] R~ igE 12.8 | ~%E 11.4
(REES NTTA BB A ST 23H(&)| A &H 11.8 | A%E 10.7
(REES E—<v LR 21H0K) [ A& 12.4 | A%E 11.0
(EEES E—<v> BB mhiEEx 21H0K) [ A& H 12.2 | A%E 10.7
14 [k GtEk. BEx%) |FHAK BB EITAE [ 14HOK)| AMEH 4.3 | A~EH 3.9
15 x GiFk. B=k®) |[HAK BB LLImh A~ HT 1H(AR)| A& 4.5 | A& 4.0
16 |k GiFk. B=k®) |[HAK BB 1L A~ HT 23H(®)| AEHE 4.7 A& 4.3
17 [LE-E02HE|[ 755 B ERITZHE [ 27HCN) 11.5 6.6 54,5 7.3
18 [LE-=02E| 757 R ER R | T 238 (&) 8.6 4.8 52.4 5.2
19 [E-Z028E (72457 (1) [BLHEBIZHE [ 28H0K) | A% 11.0 8.5 5.2
20 (UE-F0o2HE |17 G BB LI T 268 (8) 8.9 7.2 42.2 5.8
21 |l - EDCFE [v5~owFr oI BRI ERETZHE | 26H(B)| A&d 14.2 25.4 6.7
22 |UE - FOH |[AF1Faos57|BLT Am e IH(&)| A%H 10.2 9.6 8.9
23 [E -F02FE (3955 BB LT Zh B H] &) 22.7 11.8 121.0 9.8
AN I EEEL: BB LT Zh B h] 29H (R) 14.9 8.7 109.0 6.5
25 |[IE -F02FE([I955 LR EERIAEE | 30H(R) 25.2 8.8 184.0 8.6
26 [LEE-Fn2FE[2057 BLUHEREITA [ 30H(2) 24.0 7.5 139.0 8.3
YENERERR I EPEL NEESEN 27HCN)] 108.0 12.1 657.0 9.8
INERERR I EPEL Ao R 2l | 23H(®)| A~ 12.4 25.1 10.3
EHNERERR I EPEL LR 238 (&) 40.6 10.3 237.0 7.0
30 [LE-FOCE|[TISIXY  [EFENRT 16H () 21.4 9.6 172.0 10.3
3N [E-FE02E (U I/SIXY  [FBlLmEmbiirhE [ 238E)] E 10.9 | ~&HE 9.8
32 [E-FE02FE[vos5oxy @) [BLm=f2HT L0 [ 28B0K)| ~&E 13.9 30.5 6.1
SN ERERE AP LT H=EI =R [268(8) 25.5 11.2 174.0 8.9
A NERER APPEL: LT HmEI = [2880K)] A&HEH 16.7 4k .6 7.6
35 |1 - =D CHE |RF¥ES57 (&) |BRIUmEEa] 15H (K) 14.3 8.5 65.4 7.2
36 [LIFE-F0cFE|[=VFavs55 [ELHmEER 21B0K) | ~%HE 8.5 7.0 4.1
I NERERR A EED: LR EHET ™ [ 13H0CN) 14.6 9.3 88.8 7.8
38 LR -FDCiE|woFys (@) [BRUTHHEEIE | 23H(E)] AEE 1.4 10.5 5.2
39 [LE-F0FE [woFx57 @) [BRLUHHHEET My | 28H0K) 11.9 9.3 47.2 8.5
40 (I -FEDQCFE|(NT15T a8)lm 26H(B)| A& 11.4 | F%E 10.2
41 (- FEDQCFE (X155 FZEEB) I 1RH] 2TH(N) 10.9 9.6 8L .4 9.5
42 |LE =D [65vFuxY (@) |BBILThENEHE] 158 (K) 17.3 6.8 91.8 7.3
43 [R= 1FID BT EEIZHE [ 30H ()] AMEH 12.7 | *%E 11.3
MEES 1FID TGN =E=] 5H(A)| A~ &d 9.8 | A&H 8.4
45 [R= 1FID ELLHRRT BER 13HCN)|] R~ &E 13.3 | A& 11.6
46 [R=E ONTRD I ) 140K R~ &H 13.1 | A~&HE 11.5
47 [BZE 1) SEEINT 200K A& 10.3 | ~&HE 9.3
48 [B=E 1) AlllIEA] BT 2ZH&E)|] ~%E 12.3 19.5 5.5
49 [B=E 1) 8L 200K A& 12.0 | ~&E 10.6
50 [RE 1) 8L 30H(®)| ~&H 12.7 | ~&E 11.3
51 [&E= 1) BB LT Zh EHT 2ZH&E)|] ~%HE 9.7 | A%&H 6.0
52 |RE 1) BB LT 2N EHT 2ZH&E)|] ~%E 10.0 | ~&E 9.0
53 [E=E 1) LT EREBENZFE | 28H0K)[ A &HE 9.5 | A&H 8.5
5, [R=E 1) BLUHEERGE [16H(R)] ~MEE 9.1 | A~%&H 7.9
5 [R=E 1) BILUHEERTGE [ 20BCN)] MEH 9.1 | A~%&H 8.1
56 |[R=E 1) I ) 28H(K) [ A& 9.3 | A&H 8.3
57 |RE 1) MU HmEI = [168(&)] ~&E 9.0 | A~%&H 8.1
58 [R=E 1) BUmHEII=R [298B0)] R&E 9.9 | A~&H 8.7
59 [R=E 1) a8a)llm IH(&)| A&H 12.0 | ~&E 10.7
60 [R=E 1) a8a)llm 20H(CN) [ A& 10.6 | ~&E 9.4
61 [BE 1) HAN A =ZH] 21H(K) 19.1 16.4 65.9 7.5
62 [RE 1) HA ™ 20H(CN) [ A& 12.3 26.7 5.5
63 [BE 1) A= 78 (K) 41.1 9.4 217.0 9.4
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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
=S A3y mE FREY (95) L1134 (£594134) ®I9h137 (£594137)
64 |R=E 2V (Zn) ESmRER R ea 1L HT 30H ()| ~&E 8.4 20.7 6.3
65 [R=E JRD 8L Z a1 | 3H(L)] AigHE 7.4 | ~%H 8.8
66 [FR=E JRD BB LT AHRET 26H(B)| A1&EH 11.5 5.6 5.1
67 |R= JRD L LT = A HE] 29H (R)[ A& 11.4 | A%E 10.4
68 [R=E JRD BB/ R 16H(&)| ~&H 5.9 | A& 7.0
69 [R=E RR— L™ 26H(B)| A& 9.5 | A& 8.5
70 [Zofth BA 8L A ST 1H(K) 8.4 6.8 63.7 7.6
I o) BA BT A ST 1H(K)| A& 9.3 69.9 7.4
72 [Z0fth BA BT A ST 1H (K) 15.9 5.8 87.9 16.1
73 [Zofth BA BT A ST 5H(H) 19.5 5.8 90.0 5.3
4 [Z0fth BA BB LI A ST 30H (%) 9.6 8.4 49,7 1.4
75 [Zoft B 8L e T 2R 5H(B)] Ai&HE 9.4 8.2 4.6
76 [Z0fb B BB i A m BT 48R 5H(B)] Ai&HE 7.8 | A %&H 7.0
77 [Z0fth BA LU =1HET=R] | 305 (&) 32.6 10.5 190.0 8.5
78 [Zoft ovJRY (RS |BILMAEIIAE [ 15HOR) | A& 1.0 | A& 10.0
79 [Zoft B+ LT REIERE [30H(2)] A&E 10.2 | ~&HE 8.9
80 [Zofth REN 8L s BT 7R 5H(8) A& 7.6 24.7 6.7
81 [Zofth REN £8 1L SR BT hBF 12H(A) 6.5 5.9 52.8 5.1
82 [H2TEMFIEX [K (BX) 8L A ST 1H(R)] R~ igE 12.7 | A%E 11.4
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